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. Answer/ Choose the correct answer of the
following :. - : - 1x8=8
(@) -Which of the following economists

regarded as  the father of
macroeconomics?
() John Stuart Mill
() Leon Walras
(iii) J. M. Keynes .
(iv) None of the above
(b) NNP is represented by

0 'NNP GNP - National income
(i) NNP = GNP - Depreciation D
(iti) »NNP : National income '

+ Personal income

: (iv) All of the above .



(2) ‘3

2. Write short notes on any four of the following -
(within 150 words each) : 4%x4=16

(a) Relationship between national income

() In India, Nation

al income is estimate
by the ‘

() Finance Cqmm_issioh of India

M d welfare

(@ Central Goy i .,

(i) Central Statiereny ¢ of India {b) Classical theory of employment
' ~Statistical Organization (c) Investment multiplier

(i) Reserve Bank of India

(@)
(e)

. Liquidity trap - .

Xhlch of the following will cause a direc Differences between BoP and BoT

() An ‘increage
Spending

(d

in.

3. (a) Explain the income ,and., expe.nditure
methods of computing national income.

A decreage in net export spending
An Increase m pPlanned invest'ment

: (i) Anj in di Which of these two methods is more
. (7 Increase In disposable income suitable for developing nations? Justify.
‘ I an inc ‘ 8+4=12

- (e

/8

(9)

H
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$ o crease in investment spending ©
On results in 5 $ 400 million

increase ; i
s ¢ GDP, the value of multiplier

) 0125
(i) 35
(i) 8
iv) so

Menti ' nan
ntion one feature of effective demand-
Write one o ’
method of g ing
of o R corre anc?
Payments kdlsequilibriu::.mg o
What ig ratchet

effect? _ .

(b)

4. (a)

Oor .
Describe the circular flow ‘of national
income in a two-sector economy. How do
savings and investment affect circular
flow of income in market economy?
o | 7+5=12
Explain critically the Keynesian theory
of employment.

Or

Compare and contrast the approaches
to determine aggregate price level under
Classical and Keynesian framework.

11

11



(4)

sis?

S. (@) What is relative income h.')l}'>0t'-1’1(;3siarl
‘How does it differ frorr.l Keynla.in- |
absolute income hypothesis? Exp 348"

i
[

Or

(b) Distinguish between marginal efﬁcf:gg
of capital (MEC) and marginal efﬁc;/{ EC, |
of investment (MEI). Given th‘.3 ot |
how would the stock of capital ite ‘
adjusted when there is a fall in the r 5467
of interest? Explain, “

6. (@) Write the - meaning of general’
equilibrium. Dete

rmine the equilibriu™ |
level of incom
framework,

-LM |
€ under the IS 13:4-8‘:
or
(b) Explain the

of
Keynesian theory
interest. Mentio

8+37

N its limitations. 8

. . . . n

7. (@) What are the differences between of;lit
€conomy and clogeq economy? To W. be
extent  Indian €conomy can
considered g

an open 'e'conom{?7,
Explain, 4
| Or
(b) Define balance of Payments (BOP)C;
Elucidate the Monetary approach .t
balance of Payment: *
: S kok g
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